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BECE-002 ; INDIAN ECONOMIC DEVELOPMENT :
ISSUES AND PERSPECTIVES

Time : 3 Hours- Maximum Marks - 100

Note : Answer questions from qll Sections as per
| direction given in each Section. |

, Section—A

(Long Answer Type Questions) '

Note : Answer any two questions from this Section
in about 500 words each.

1. What is the hature of unemployment in the

Indian economy ? Could current policies of

Liberalisation mitigate the problom ? 20
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2. Diséu;ss the theory of demographic transition in
detail. 20

3. What are the causes of low productivity in the
Indian agriculture ? Discuss the institutional
and the technological factors to solve- the
problem. 20

4. Distinguish between Current A/c and Capital
| Alc to balance of payments. How can an adverse

balance of payments be corrected ? 20
Section—B
(Medium Answer Type Questxons)

Note : Answer any four questions from this Sectwn

in 250 words each.

5. Discuss the concepts ‘and challenges of

sustainable development. 10

6. What are the main deficiencies in the

development of Capital Market inIndia? 10

7. What are the main features of ﬁnanbial éyster'ri
in India ? 10
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.- Discuss the role of monetary policy in economic

deVeloﬁmerit ofa country. 10

}vo’.”

Give arguments for and against the entry of

Mu.ltinationﬂ Corporations in a country. 10

What are the economic effects of Green

Reyolution in the India ? 10

Discuss the cohtributioh of foreign trade in the
economic development of a country. 10.

Section—C

(Short Answer Type Questions)

Note : Answer both the questions from this Section

12,

as directed.

Distinguish between any two of  the

following : 10

(a) Intensive and Extensive agriculture
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(b) Revenue receipt and Capital receipt

(¢) Convertibility of currency in Current and

Capital Alc

13. Write short notes on any two of the following.:
10
(a) Mutual funds and its types |
(b) Demographic dividend

(©) Inclusive growth and income disparities
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